\ \ MATERIAL NOTES:
M1. Mounting plate : 2mm stainless steel 316
\| M2. Main Switch and Fuse switches Mount : 1.5mm stainless steel 316
f\\ M3. Enclosure : 1.5mm stainless steel 316, orbital finish
‘ i —

I @ @ @ M4. Escutcheon : 2mm stainless steel 316
| Actives In I @ @ @ M5. Door seal : Polyurethane Gasket Foamed In place
l——— |0 o M6. Switchboard Gasket : 3mm thick UV stabilised polyurethane
@ D000 000 @ M7. Hinges : Chrome Plated Brass Pintle Hinge
o000 M8. Gland plate : Smm thick Aluminium
\\ H U K\ H U H W/ MS. Gland plate Gasket : 3mm thick UV stabilised polyurethane
, / J M10. Enclosure Rating : IP55
! i i M11. Din Rail T535-7.5 passivated steel
| | | M12. Labels
\} \| \| g:g D Description Colour Font
SRS T
i i @ @ @ j}@ A DANGER 415 VOLTS White Traffolyte with red letters | 5mm Arial font
& ! 038 - _ _
| ‘ | 2~ To B MAIN SWITCH White Traffolyte with black letters | 5mm Arial font
\ ‘ ‘ 3< J
! enclosure
I \ WARNING — MAIN SWITCH IS NOT . . .
L[ B earth C INTERLOCKED TO DOOR White Traffolyte with red letters | 5mm Arial font

T+ ICHENG=CONFACFORS BEHIND= + White—Fraffolyte -with black=letters— =Smmr Arut font

E MEN LINK BEHIND White Traffolyte with black letters | Smm Arial font

© O 3

/ F MEN LINK White Traffolyte with black letters | 5mm Arial font

L ‘@ G | PARH ELECROPE N AOACENT | wihite Traffolyte with black letters | Smm Arial font
Refer Note M12F

H (other labels) White Traffolyte with black letters | 3mm Arial font

+ 0 O |53

NOTES:
1. Dimensions are in millimetres unless shown otherwise.
@[ oS- ] ASSOCIATED DEPARTMENTAL DOCUMENTS:
o~® Standard Drawings
NN Specifications
z‘g Traffic and Road Use Management Manual (TRUM)
®:® — Volume 4 Part 3 Electrical Design for Roadside Devices
o~
0= REFERENCED DOCUMENTS:
=® Departmental Standard Drawings:
NEN 1623 Road Lighting — Switchboard Typical Layout and Circuit
[\

Diagram MEN System
] 1627 Road Lighting — Switchboard Top Mounted
1628 Road Lighting — Post — Top Mounted Switchboard
1699 Traffic Signals/Road Lighting/ITS — Parts List

9
&

Departmental Standard Specifications:
MRTS210  Provision of Mains Power Without Photocell
MRTS228 Electrical Switchboards
MRTS256  Power Cables

Q002022
8 4 9 S v og u
2222222

@ Actives Out

0

//

Australian Standards:

AS/NZS 3000 Electrical Installations (Wiring Rules)

SWlTCHBOARD W|R|NG LAYOUT Department of Transport and Main Roads
WITHOUT PHOTOELECTRIC CELL CONTROL ROAD LIGHTING

©The State of Queensland (Department
of Transport ond Main Roods) 2021

http://creativecommons.org/
Queensland licenses/by/4.0/

SWITCHBOARD G‘:gemmentst T
ASSEMBLY DETAILS anagre -rawing o
8 1636
SHEET 1 OF 6 Scale Date 3/2021

Lelefo] [ ]




300
‘ 500 200 | %) (% 85 55 390 55_,
| f | & . |
/ =3 \ o Space suite ‘
ol . to main door
/_ Enclosure Vent with/T /_ * | lock latch \ﬂ 2
Enclosure gasket ‘ @) 1 vous Refer :
Door H | L .@ H 4
. Note 12
B | g o &+
Agﬁﬁ | Jm 1 Can : m{ fﬂkf
L o ‘ = ] ) M8x20 stud stainless steel 316
S 1 fEscutcheon :\’POIe fillers welded to enclosure (4 No.)
\ "NELDHED T e Dom, Escutcheon —| |
\ I
| Refer 123 4567839 I
| I N Note 12 . I
*H ]ﬂﬂ R : Escut_cheon mﬂ[ C[“]{*
§ - 30 : - stopping edgex ﬂi| %
. 200
B ——30l~— £ I M8 nut stainless |
& scutcheon | |
; 4 steel 304 M8 - —
75 \ *% stopping edge [ \ washer stainless Vent. with —" /_
@ I steel 304 (4 No.) | gosket
A Refer Escutcheon\ |
Escutcheon Note 12 Handle I
stopping |
a¥%edge M6 x 12mm b | S
Earth stud ! -
: | /welded to &\ @1k I
= = 190 enclosure @ Hinge : @ H 4 4
3 Gland Plote / . 40 ~Door Stay l /] Gland Plate 9
Gasket or® $ ! Space suite Gasket -
& 0 == s to main door | #***r S
* — = % lock latch L B == %
S
FRONT VIEW SECTION /A FRONT VIEW ESCUTCHEON SECTION /"B INSIDE BACK OF ENCLOSURE
DOOR LAYOUT \—/ DOOR REMOVED \—_/
440 440
M8 hole (4 No.
ole (4 No, ! |_—Hole to suit 150
= 3mm screw . .
H Hinge {92 . 242 NT‘ /g< (2 No.) Din rall\{
Spot weld Lock 112 g2 _noe ———0in rail== | —Hole to sut —
Yy | ¢: \ \ o —— 4| 4mm screw ~[*
Door seal to door — 52 K| |52
~ Document gL \ - = =g (4 No.)
Storage Pocket ] S % } /] 14 - -
230 12 || { 2% 50mm——T"] 100 80 |30 S =
~N
Bnclosure ‘ ‘ - - Holes — N S e ;tué ZI;I;S to
oor o 1 S B
N o 2 60 275 = screws j
- *L 50 50, S
A3 ﬁ N'\j ‘ 201 [ Di il i ] |+ -
. ‘R/  — n_rai — Base mount for main
Kl 55 switch and fuse *[* —
- r_’ switches welded to
o 1y mounting plate IS
1 = [ - - i -
: o Din rail - !
60| | 180 | [-60_] Hinge & [ : ]2 i —
\ 4 x Holes to suit —
Lock  Ref bl % & 4mm screws M Din rail
o | efer assembly sequence B
% *t— for escutcheon earth \ 50 }7 25 typ FRONT VIEW
on drawing 2 of 2 e SIDE VIEW MOUNTING PLATE
N MOUNTING PLATE
H 0, Hinge @ Department of Ti rt and Main Road
I epartment of Transport and Main Roads
— [OMom
Door Stay REAR VIEW ESCUTCHEON Without Photocell ROAD LIGHTING S ™
REAR VIEW DOOR LAYOUT Queensland ‘?.vttp://c(suﬁzesommns.org/
R SWITCHBOARD Goverment |1/
AS Standard D i N
™~ ASSEMBLY DETAILS e ron

SWITCHBOARD ASSEMBLY DETAILS WITHOUT PHOTOELECTRIC CELL CONTROL

SHEET 2 OF 6

| 1686

Date 3/2021

Lelefo] [ ]




8 dia hole

& |
TOP VIEW OF ENCLOSURE
155 190 M6x20 316 stainless steel
stud welded to enclosure
% | #12
o
1 | pos
| o
250
500
SECTION
WITHOUT GLAND PLATE
240 240 8 dia_hole

40 dia. threaded hole
120 190 to s 'tond@
or €69

240
190

240

210 dia. guide
marker_line

g 12 dia. threaded hole
S to suit £6
N /—‘Note 4
Q

A{zs 190
b
&

Note 5
190 25L* s \ 150z PCD
GLAND PLATE GASKET GLAND PLATE
500
50 400
| 912
+ \ ¥
20 \ o2
sl g @S é}/
| o
i +]

SWITCHBOARD GASKET

Terminal lug
crimp 6mm?” M6 hole

Cable 1cx6mm’
PVC earth

To Enclosure
Earth Bar

M6 washer Belleville
stainless steel 304 M6 nut

Gland plate

Gasket \

M6 nut Glenlock
- hex 304 stainless steel
‘ M6 washer Belleville
304 stainless steel
R 7 M6x20 316 stainless
T steel bolt welded to
escutcheon/enclosure
¥ WA

Escutcheon/enclosure

ASSEMBLY SEQUENCE FOR
ESCUTCHEON/ENCLOSURE EARTH

M6x12 316 stainless
steel stud welded to
enclosure

stainless steel 304

Flat washer
stainless steel 304
8 (To cover hole) |

Z

Enclosure

SWITCHBOARD ASSEMBLY DETAILS WITHOUT PHOTOELECTRIC CELL CONTROL

7

FIXING OF GLAND
PLATE

-PE=NOTES:

== Jension- the -bross= nut o 3 Z=14Nmr after —olt parts—of -mount —ore=
—tssembletl=

=2 =Screw photorel (part 545 = —stundord=drowing=t69%) Sinte- PE Tell=mount=
—untl—sntg—end —the—inrer o —ring s compressed- sufficiently te- be- weter=
—tight=

3. Dimensions are in millimetres unless shown otherwise.

4. All Cable entry points to be capped.

5. Contractor to ensure correct glands/reducers are ordered from switchboard
suppliers.

Without Photocell

Department of Transport and Main Roads

ROAD LIGHTING

o=0—

A | ©The State of Queensland (Department
of Transport ond Main Roods) 2021

http://creativecommons.org/
Queensland licenses/by/4.0/

SWITCHBOARD Government

A3 Standard Drawing No
ASSEMBLY DETAILS
B 1686
SHEET 3 OF 6 Scale Date 3/2021

Lelefo] [ ]




=P ©

E—— PP

| Actives In —
\

3

vy o€ T

8 L 9 ¢

oo 6

Q020222222
Q022222222

&

Q002022
8 4 9 S v og u
Q02222

[

0

@ Actives Out

SWITCHBOARD WIRING LAYOUT
WITH PHOTOELECTRIC CELL CONTROL

&

To
enclosure
earth

Refer Note M12F

MATERIAL NOTES:

M1. Mounting plate : 2mm stainless steel 316

M2. Main Switch and Fuse switches Mount : 1.5mm stainless steel 316

M3. Enclosure : 1.5mm stainless steel 316, orbital finish

M4. Escutcheon : 2mm stainless steel 316

M5. Door seal : Polyurethane Gasket Foamed In place

M6. Switchboard Gasket : 3mm thick UV stabilised polyurethane
M7. Hinges : Chrome Plated Brass Pintle Hinge

M8. Gland plate : Smm thick Aluminium

M9. Gland plate Gasket : 3mm thick UV stabilised polyurethane
M10. Enclosure Rating : IP55

M11. Din Rail TS35-7.5 passivated steel

M12. Labels
D Description Colour Font
A DANGER 415 VOLTS White Traffolyte with red letters | 5mm Arial font
B MAIN SWITCH White Traffolyte with black letters | 5mm Arial font
WARNING — MAIN SWITCH IS NOT . . .
C INTERLOCKED 70 DOOR White Traffolyte with red letters | 5mm Arial font
D | LIGHTING CONTACTORS BEHIND | White Traffolyte with black letters | Smm Arial font
E MEN LINK BEHIND White Traffolyte with black letters | 5mm Arial font
F MEN LINK White Traffolyte with black letters | 5mm Arial font
EARTH ELECTRODE IN ADJACENT . . .
6 EARTH PIT White Traffolyte with black letters | 5mm Arial font
H (other labels) White Traffolyte with black letters | 3mm Arial font
NOTES:
1. Dimensions are in millimetres unless shown otherwise.
ASSOCIATED DEPARTMENTAL DOCUMENTS:
Standard Drawings
Specifications
Traffic and Road Use Management Manual (TRUM)
— Volume 4 Part 3 Electrical Design for Roadside Devices
REFERENCED DOCUMENTS:
Departmental Standard Drawings:
1623 Road Lighting — Switchboard Typical Layout and Circuit
Diagram MEN System
1627 Road Lighting — Switchboard Top Mounted
1628 Road Lighting — Post — Top Mounted Switchboard
1699 Traffic Signals/Road Lighting/ITS — Parts List
Departmental Standard Specifications:
MRTS210  Provision of Mains Power With Photocell

MRTS228 Electrical Switchboards
MRTS256  Power Cables

Australian Standards:
AS/NZS 3000 Electrical Installations (Wiring Rules)

Department of Transport and Main Roads

ROAD LIGHTING

//

©The State of Queensland (Department
of Transport ond Main Roods) 2021
http://creativecommons.org/

Queensland licenses/by/4.0/
SWITCHBOARD G;‘gemme"tst T
ASSEMBLY DETAILS anagre -rawing o
| 1686
SHEET 4 OF 6 Scale Date 3/2021

L 5] e D |




300
500 ‘ (A, & 85 55 390 55_
| 200 ‘ ‘ \/ =/ | |
| i | % - . ~
/ 3 \ 9 Epace_sug{e ‘ %
i : o main door
/_ Enclosure Vent withjj /_ } | lock latch \ﬂ \3
Enclosure gasket ‘ @D 4 s Refer :
Door H w i /.eb : .
o ; Note 12 T
\ g ‘ Hinge @/—-ﬁ
L o ‘ =’ Dl M8x20 stud stainless steel 316
= I~ Pole fillers
< | fEscutcheon | welded to enclosure (4 No.)
\ "NERDHED 1 e Dom, Escutcheon —| |
\ I
| Refer - . '
) I N Note 12 . e
1 || R ||| e [
Sl stopping edge o
2 o il N 200 ﬂ g
B o ——30l~— £ | M8 nut stainless |
= = scutcheon ! steel 304 M8 -
Lﬂ,\ AE o stopping edge \i \ washer stainless Vent with — /_
@ a I steel 304 (4 No.) | gosket
A Refer Escutcheon\ |
Escutcheon Note 12 Handle I
stopping |
a¥%edge M6 x 12mm y @ | <
/ Earth stud 1 s
: H welded to @1k |
= A 190 enclosure @ Hinge ! @ H <+ <+
3 Gland Plote / . 40 ~Door Stay l /] Gland Plate 9
Gasket or® $ ! Space suite Gasket -
4 0 == to main door | #***r S
—n = [CS5 ~ | >
* = = % lock latch [ Be——e= =7
-,
=/ =/

FRONT VIEW ESCUTCHEON

FRONT VIEW SECTION /~ A SECTION /B ) INSIDE BACK OF ENCLOSURE
DOOR LAYOUT \—_/ DOOR REMOVED \—_/

440 440

M8 hole (4 No.) ‘ Hole to suit 150
| — |
= 3mm screw . .
H Hinge L9 | 242 TT‘ "g< (2 No.) Din  rail \4{*
112 »15«82 Hinge P Din rai ‘}24—50' EE
Spot weld Lock | | ] | —Hole to sut —
\ B FIN(0) . 9 —— 47| 4mm screw —
Door seal\ Document (0 door gL . - E—J = |52 3 (4 No.) <[
N Storage Pocket ] S % } /] 14 - -
230 ‘ 12 || { 2% 50mm——T"] 100 80 |30 S =
o~
Egzlrosure ‘ ‘ J— - Holes | ;Dm r(]II;;—/r ;"UI)E rr(;lsf to ﬂ[k
\ e 3 60 275 S screws I
2 50 50, o
3 B3 201 L i+ =
‘&3 o ‘ — Din_rail — Base mount for main
' 55 switch and fuse -
N switches welded to
o 1y mounting plate IS
|_60_| | 180 | 0| e < =l roil =]
E \ . 4 x Holes to suit = . /«[% )
o | | Lock  Refer assembly sequence % mm_screws Din rail 1
% *t— for escutcheon earth \{_5_0» b 25 typ FRONT VIEW
on drowing 2 of 2 — SIDE VIEW MOUNTING PLATE
N MOUNTING PLATE
11 50 f Hinge 8T Department of Ti rt and Main Road L@-g
epartment of lransport an ain  rRoaas
g\ Door Stay REAR VIEW ESCUTCHEON With Photocell ROAD LIGHTING SUBRAYS | O st of ovensirs (g
REAR VIEW DOOR LAYOUT \ d :zt;s/e/sc/t;%es;mmnsorg/
SWITCHBOARD Government : _
™~ ASSEMBLY DETAILS = S“”di“g’ggg e
SWITCHBOARD ASSEMBLY DETAILS WITH PHOTOELECTRIC CELL CONTROL to
Scale Date 3/2021
SHEET 5 OF 6 e I




Terminal lug
crimp 6mm?” M6 hole M6 nut Glenlock
2| Clearance - hex 304 stainless steel
| Hole \Oﬁ@%) | ; |
S - Cable fex6mm’ ‘ M6 washer Belleville
” PVC earth 304 stainless steel
100 ‘
R 7 M6x20 316 stainless
To Enclosure T steel bolt welded to
= | Earth Bar escutcheon/enclosure
TOP VIEW OF ENCLOSURE “ \\/'
155 190 M6x20 316 stainless steel Escutcheon/enclosure
stud welded to enclosure
s 0P VIEW ASSEMBLY SEQUENCE FOR
#/ﬁ Inner O-ring ESCUTCHEON/ENCLOSURE EARTH
‘ E/
1 924 =
8l 8 _ MBx12 316 stainless
i —— — IPE Cell Mount steel stud welded to
| enclosure
# % M6Awasher Belleville M6 nut
2 stainless steel 304 stainless steel 304
Outer O-ring
250 / Flat washer
Gland plat stainless steel 304
. /TOP of Enclosure and piate T /(To cover hole)
SECTION e 2 e ZZZ72 G“Sket\ | ' 2
WITHOUT GLAND PLATE ] ] Wlon Wosher |
| Z
_ Brass Nut ‘
/(Refer note 2)
Enclosure
240 240 8 dia_hole : ‘
40 dia. threaded hole ) B
8 dia_hole r&, 190 o (%u% ond @ FIXING OF GLAND
or 56 FRONT VIEW PLATE
Ve 12 dia. threaded hole
o to suit £6
o~
ol o ol o ‘ /—‘Note 4 ASSEMBLY SEQUENCE PE NOTES:
g 2 3 2 FOR PHOTO ELECTRIC 1. Tension the brass nut to 13—14Nm after all parts of mount are
210 dia. quide (PE) CELL MOUNT assembled.
. D’ . marker_line (Refer Notes 1 and 2) 2. Scr.ew photocell (pCII.’t 545 —.star.mdard drawing 1699). into PE cell mount
9 9 Note 5 until snug and the inner o-ring is compressed sufficiently to be water
f ] \ \150 PCD ote tight.
190 25L J 25 2 3. Dimensions are in millimetres unless shown otherwise.
4. All Cable entry points to be capped.
GLAND PLATE GASKET GLAND PLATE 5. Contractor to ensure correct glands/reducers are ordered from switchboard
500 suppliers.
50, 400 With Photocell
912
\
AR N 3
o2 ] p2e
J— T
g g 2 é’/
MmN Department of Transport and Main Roads
\
% ROAD LlGHTlNG A | ©The State of Queensland (Department
— of Tmnsport. ond Main Roods) 2021
ST + Queanaand (12757
o 1 SWITCHBOARD G;‘ge’"'“e"tst PP
anaar rawin o
ASSEMBLY DETAILS = 16 869
SWITCHBOARD GASKET SWITCHBOARD ASSEMBLY DETAILS WITH PHOTOELECTRIC CELL CONTROL o
SHEET 6 OF 6 SCO\T/B/l/e/lDotel 3/2(?% |
D




